Bhak s e — NI

| @-mEE4308K 48

18 5 T 1 X

%
9 \
CF \

o 2 2 A
%95, 7’? 2 * S5 f)\ f’\ "‘95)
A% o5,
RN IR
AT
BRI ©
UE: 3 N
/ *
i
? |
‘Aseo
REKIE L:1150 w:86
38699 )
| 7

‘I\s‘sg

*3?
*
32

e
960

",
32

*
324

111,000

P

&

R2=t+ E#E439% = -H#ASRL

T2 lgurs

BaES | —mmEas

THET | ZHhRESRE

mEs EBAETER

®R sz | REES 17
FREL | ERRENLAREBRIERS (S8




ESND ye e

No. 4+13. 00

i R B X (X )

fii T % K L =100.00 m SEEEMAEA =922.80 m2 X Hj#RL=250. Om (FMAER100. 0+100. 0=200. Om + H1 835, 0%10. 0=50. Om)
13. 00 20. 00 20. 00 20. 00 15. 00 5.00 7.00
S S
S S S S S 2 3
(=1
z Q) 2 g
[ Iy @ S =l o
o @ N @ ©
> )
B 48-16 T i = filll
ZahE [=} . = =
A 548-10 © . O 3 20K
A
MEEmEREX
No i 7 B =2
1 [(11.10 + 11.10)/2 *  7.00 71.70
2 |(11.10+ 9.60)/2 % 5.00 51.80
3 |( 860+ 820)/2% 1500 126. 00
4 |( 820+ 8.80)/2% 2000 170. 00
b 94
I, 5 |( 88 + 9.60)/2 % 20.00 184. 00
LB - HIEREN-30 =100
. s 6 |( 9.60+ 9.70)/2 % 20.00 193.00
RE BEFHMEFRO7VLEAY t=fom
S=1/50 I54ha—b (. 0/wEE) 7 ( 9.70 + 8.80)/2 * 13.00 120. 30
|
& H 922.80 m?
4. 40~9. 00 ‘ SHEE ]IS, 80m
A 1 ﬂ
FE=50
L EERAZt=100 s
TEEiEt=100 BERER R2=Tf EE439% = REARE
= = K = 5 = =
=ET TRERIE | LRERE | TERE MERE | XER T2 lmuts
922.80m 922.80m 922.80m 922.80m 922.80m 250.00m BRAT | —REERS
ki TR SRR A S5 L, BRI 2 Ml oo L T4 25 4, THEF | SHTRESRE
HE4 BENEEER
e | s |mess] o

ExER

BERASLARRBRIERD (=)




